Total LWSE flux (W m

~“) Run 604c (8km)

3000 200
- 100
£ 2000
S
= 0
S
5 1000
T -100
0t ' ' -200
0 5 10 15
Time (in hrs)
Total LWSE flux (W m ©) Run 602c (1km)
3000 — 200
- 100
£ 2000
S
= 0
S
5 1000
T -100
0t : : -200
0 5 10 15

Total LWSE flux (W m

3000

N
o
o
o

Height (in m)
5
8

Time (in hrs)

0 5 10 15
Time (in hrs)

) Run 803c (.5km)

200

100

-100

—-200

Total LWSE flux (W m ©) Run 601c (3km)

3000 200
- 100
£ 2000
£
- 0
S
< 1000
T -100
0F : : 200
0 5 10 15
Time (in hrs)

Total LWSE flux (W m “) Run 603c (.5km)

3000 200
—_ 100
€ 2000
£
- 0
5
‘% 1000
T -100

0 ' ' ~200
0 5 10 15
Time (in hrs)
Total LWSE flux (W m ©) Run 805c (.1km)

3000 Z 200
— 100
£ 2000
=
= 0
5
‘5 1000
T -100

0° -200
0 5 10 15
Time (in hrs)



